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QUESTION 1

Which two statements are true about implementing an API-First strategy?

A. The APl is to be developed first before any Ul or new business logic are created.

B. It generally is assumed that SOAP/WSDL are the key specifications for defining the API.

C. The code to execute business logic needs to exist and be exposed as an API first before you build a strategy around
it.

D. You define the API definition/contract first before any work on its implementation or any applications that use it,
allowing teams to work in parallel.

Correct Answer: AB

QUESTION 2

Which two are ways the Oracle Internet of Things (IoT) Cloud Service environment can be accessed?
A. using SOAP Interface

B. using REST Interface

C. Using a desktop client

D. using Web Browser

Correct Answer: BD

QUESTION 3

Given that a gateway node should have a dedicated user credential for connecting to the API Platform Management
Service, what grants should be assigned to that user?

A. Node Service Account
B. Deploy API

C. View all Details

D. Deploy to Gateway
Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/install-
gatewaynode.html#GUID-6848A2B0-03D0-435B-B867-5D9FD80E595B

QUESTION 4
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Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise
systems.

What are 2 key elements that you need to review in this architecture?

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture.

B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported.
C. Design a load balancer solution for connectivity.

D. The DMZ needs to open port 80 for proper connectivity.

Correct Answer: AC

QUESTION 5

Which is NOT a valid service provided by Oracle Enterprise Scheduler Service (ESS)?

A. running Java, PL/SQL, and binary script jobs

B. invoking jobs on external On-Prem and SaaS application as scheduled on the Oracle Enterprise Scheduler

C. configurable to allow or restrict running multiple job requests associated with a single job definition concurrently
D. distributing job-request processing across a grid of application servers

E. invoking jobs on external On-Prem and SaaS application as scheduled on those Schedulers

Correct Answer: B

QUESTION 6

You receive a status code: 502 Proxy Error.

Which is a possible event cause for this error?

A. when the proxy setup is incorrect

B. while registering a large number of devices using the Batch Registration feature under the Devices menu
C. while adding proxy for an enterprise application device

D. while the proxy server is not responding to the request

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/troubleshooting-management-consoleissues.html

QUESTION 7
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Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order
to deploy that API?

A. Manage API or Deploy API

B. Manage API

C. Entitle API

D. View all Details and Deploy API
Correct Answer: A

Reference: https://community.oracle.com/community/oracle-cloud/oracle-cloud-developer-solutions/blog

QUESTION 8

Which four are types of links that can be created to read data and events from devices, access different data sources for
reading and writing data, and to deliver the results of analytics processing?

A. Device Message and Analyzed Message
B. Oracle Storage Cloud Service

C. Spark SQL and Oracle NoSQL

D. Oracle Database as a Service

E. Local File System

Correct Answer:. ABCD

QUESTION 9

Which two are NOT default start and end events in Process Cloud Service?
A. Folder start and None end event

B. SOAP start and SOAP end event

C. None start and end event

D. Task start and end event

Correct Answer: BD

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-process-start-
andend.htmi#GUID-0DC7FF32-B146-4680-BE32-A2362B906564

QUESTION 10
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Which four are key features of Oracle Integration Cloud Enterprise (OIC)?
A. Data stream analytics

B. Application Integration

C. Web and Mobile application creation

D. Business process automation

E. Enterprise service Bus (ESB)

F. Business to Business (B2B)

Correct Answer: ABCE

QUESTION 11

Which four Client Software Libraries can be used for developing application with Oracle Internet of Things (IoT) Cloud
Service?

A. C POSIX

B. Java SE

C. .NET

D. JavaScript

E. Android

F. VB Script

Correct Answer: ABDE

Reference: http://www.oracle.com/us/solutions/internetofthings/iot-cloud-service-ds-3209769.pdf

QUESTION 12

What policy is required to be in an API if that API is to be used under a Plan?
A. Application Rate Limiting

B. Basic Auth

C. Key Validation

D. Interface Filtering

Correct Answer: C
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QUESTION 13

What are two possible reasons for a Gateway not getting started?

A. The loT Service may be down.

B. The provisioning file may contain correct Activation ID and Activation Secret.

C. There is an invalid certificate.

D. The provisioning file may contain incorrect Activation ID and incorrect Activation Secret.

Correct Answer: AD

QUESTION 14

What Mapper function can you use to get the lookup value in Mapping Builder?
A. GetLookupValue

B. FindLookupValue

C. LookupValue

D. SearchLookupValue

Correct Answer: C

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/ocmap/using-oraclemapper.pdf

QUESTION 15

Which two are execution modes supported by gateway node in Integration API Platform Cloud Service?
A. Production

B. Development

C. Stage

D. Test

Correct Answer: AB

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/installing-gatewaynode.html#GUID-
A02059C9-37B4-40F0-9FEA-C648804BB98F
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